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Using back-to-back stem-and-leaf displays to compare data sets

As part of its interview process, an employment agency tests the client's typing speed. The stem-and-leaf
17 of whom received a job offer and 16 of whom did not. Answer the questions that follow.
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(a) What were the ranges of typing speeds for the twa groups?
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(b) Which group had the higher median typing speed?
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(€) Which group had more typing speeds in the 30s?
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display below shows the results for the most recent clients,
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Using back-to-back stem-and-leaf displays to compare data sets

Note: The Solve feature is not available to stu

As part of a survey, 17 college graduates and 20 non-graduates were asked, "How many hours did you spend at your job last week?" The results are shown in the

stem-and-leaf display below. Answer the questions that follow.

Number of hours at work
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(a) What were the ranges for the two groups?
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(b) Which group had the higher median number of hours?

(OThe medians were the same
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(c) Which group had more responses in the 50s?
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